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Met2te D= 0 856 0.00
AZFHE)I= 0 10 0.00
SEM2EFHII=S 0 15 0.00
Al 0 363 0.00
A=ISXD1= 0 60 0.00
Met2te D= 0 300 0.00
EAETHENRI IS 0 3 0.00
Al 0 512 0.00
FEXZI= 0 80 0.00
Met2teDl= 0 399 0.00
D= 0 11 0.00
2dES)I= 0 17 0.00
sMIgsII=S 0 5 0.00
Al 0 1,142 0.00
NN 0 13 0.00
HIISHelAE XY FeIX20|= 0 495 0.00
S8 sSEMRUESEHIIS 0 2 0.00
ENAEDI= 0 310 0.00
Met2te D= 0 319 0.00
ASHE)I= 0 3 0.00
Al 0 1,116 0.00
D= 0 20 0.00
sENE JEFEII= 0 0 -
AT AN = 0 0 -
S NgMI|= 0 410 0.00
ASHEII= 0 20 0.00
Met2te D= 0 666 0.00
Al 0 385 0
MASFAAESD IS 0 13 0
WP 0 83 0
Met2te D= 0 282 0
AMENSIIS 0 3 0
F28=ID1S 0 4 0
Al 26 2,502 1.04
HEI= 2 0.00
ZAHDIZ2 SEXAE FRIXRIIZ 26 1,045 2.49
M= MASFAAEED IS 0 4 0.00
o ORISR I= 0 93 0.00
LoI=EXDI= 0 209 0.00
ASHE)I= 0 101 0.00
2dHESI|= 0 26 0.00
Al 0 399 0.00
D= 0 24 0.00
Met2te D= 0 360 0.00
2dHES)I= 0 15 0.00
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